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Let A denotefor d>2 the minimal Aoo—q)gelom with deel/)why Zz-@mdec(
algdom Fhe extevivr algebm /\(’25) wheve |€]=1, and Aw-pmducﬁr {mn Tz |
wiﬂ/\only M2, M4 nonzew, and md (€& - pe)=1.
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We checla. (some o) the Ao ~conshraints mmlzmg Zro(v) }nzl it an Aov-module
(tsing ('\)r“f ngﬂf)_ The pom’/o)e conhibutow arve Ma, Md ) of2 , Rep1, Wel- -
The fmjrev%ﬁ"hg ove is where A+, Xd-ct] both oomJMbuL@/ whidh s Phe corshaink
fov = d+]. SC(Aevna‘Hca”_Lj) Hhis will have terms
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Now the Koszul sigmn nle Jays (sfh& oAn|=2-n = VL)
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Upshot  pvovided we chvose bk such ot htht ((d-i) =dT) (mod2), Hhe
n=dr) A —1onshaint will be iabished.



